


. i combination with A ;
9. The higher oxidation states of transition elements are found to be in the nd
B, which are

(A) F, O (B) O, N (€) 0, Cl (D) F, Cl

%he metals present in insulin and haemoglobin are respectively

v’

(A) Zn, Hg (B)2A, Fe (C) Co, Fe (D) Mg, Fe

A metal M which is not affected by strong acids like conc. HNO;, conc. H,SO, and conc. solution

of alkalies like NaOH, KOH forms MCI, which finds use for toning in photography. The metal M
18

(A) Ag (B) Hg @,Au/ (D) Cu

12. Manganese steel is used for making railway tracks because
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(A) it is hard with high percentage of Mn

(B) it is soft with high percentage of Mn

(C) it is hard with small concentration of manganese with impurities

(D) it is soft with small concentration of manganese with impurities
13. Transition elements in lower oxidation states act as Lewis acid because

(A) they form complexes (B) they are oxidising agents

(C) they donate electrons (D) they do not show catalytic properties

14. The electrons which take part in order to exhibit variable oxidation states by transition metals are
(A) ns only (B) (n-1)d only
(C) ns and (n—1)d only but not np (D) (n~1)d and np only but not ns
15. Solution of MnO,™ is purple-coloured due to
(A) d-d-transition
(/B) charge transfer from O to Mn
(C) due to both d-d-transition and charge transfer
(D) none of these
16. An element of 3d-transition scries shows two oxidation states x and y, differ by two units then
(A) compounds in oxidation state x are ionic if x >y
(B) compounds in oxidation state x are ionic if x <y

. s 4 N\
(C) compounds in oxidation state y arc covalent if x < y

(D) compounds in oxidation state y are covalent if y < x
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v X CuSO, —414:50_, ¥ (Blue colour), X and Y are

(diatomic covalent
molecule)

(A) X =1, Y = [Cu(H,0),]2* ®) X = [Cu@,0),]* Y =1,
€) X = [Cu,0),], Y =1, D) X = [Cu(H0),)*" Y =1,

(NH,),Cr,0, (Ammonium dichromate) is used in fire works. The green coloured powder blown i
air is

(A) Cr,0, (B) CrO, (C) Cr,0, (D) CrO,
Iron becomes passive DY ottt due to formation of .......ccccceeunne.

(A) dil. HCL, Fe,0, (B) 80% conc. HNO;, Fe,O,
(C) conc. H,S0,, Fe,0, (D) conc. HCI, Fe;0,

Bayer’s reagent used to detect olifinic double bond is

(A) acidified KMnO, (B) aqueous KMnO,

(C) 1% alkaline KMnO 4 solution (D) KMnQ, in benzene

MO, + Xe™ s MnO2

+ ye~ (Acidic medium) Mn2+

+ Z¢ ~ (Neutral medium) MnO,

X, y and z are respectively

(A)1,2,3 B)d; 5, 3 A (&ML ) D) 5, 3, 1
Cu + conc. HNO; — Cu(NO,), + X (oxide of nitrogen); then X is a3

(hot)
(A) N,O (B) NO, (©) NO . @Npo,

CuSO, solution reacts with excess KCN to give

(A) Cu(CN), (B) CuCN (C) K,[Cu(CN),]

Pick out the incorrect statement;

(D) K,[Cu(CN),]

(A) MnO, dissolves in conc. HCI, but does not form Mn4+ 7

(B) MnO, oxidizes hot concentrated H,SO, liberating oxygen
(C) K,MnO, is formed when MnO, in fused KOH is oxidised by air, KNO

3 » PbO, or NaBiO;
(D) Decomposition of acidic KMnO, is not catalysed by sunlight.

"
1 mole of Fe?* ions are oxidised to Fe3* jons with the help of (in acidic mediufn)

(A) 1/5 moles of KMnO, - (B) 5/3 moles of KMn()4

(C) 2/5 moles of KMnO, - (D) 5/2 moles of KMnO4
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